EARAROBEEIERT — 2 N— IBISH —F

2013558230 (k) 3EIFIRI2H

m 3L EC4—5 C4 5% (xwlw | lmEmml - |5 ) 0w 8
[AE£] 1% :150,000  ~ 2#&:24,000 ™M  337%&:18,000 M . 43%&:12,000 M 57 :6,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N 4 o4 | ABEEZ 1:18.8 3-3 39.5| — 1 440 | 1EFERER (dtimiE)
ilglg| 1557 5.0 i o |WmEE
LxAxNTT BILTFoxER EH OB
) s INHRIESE :18. = . - BERHRAL (tmE
2 6 Ny Ta 5 54.0 1(71?:)9 i %3 s ?g? 5@;%?{? -
R:ZFAT—ILE BN aE— NS T S
NPT, # 3 | /EET 1:19.2 21 01| — 2 502 | /NEFE (deimE)
3177 INH KR 56.0 (1 1/2) (-10) RiEfth =
od—IRAqO— B:EILHZbY— LIS PN
FETS : - — HFORE (AtieE)
4/5/5|"Y bbAnrO— "4 | BRTS 1.(250).2 1-1 4.2 4 <4+322) SRR (e
L:¥xrinMa— B2 T+=Xb AR
S . _ #o12 | HHEE 1:20.7 6-5 4.9 — | 7 | 494 |BORE (tEE)
5 &Y 3 NZwT2BF 56.0 (2 1/2) (-12) EET= .
LiANRINGR B 70-U7 HE
5, =5 . 5 | FKEKED 1:21.1 4 41. — 34 |ABE— (dtimE
6 2| AT v~ # 54.0 ® ° ° ° (jz) wiEs
LhIHATAA— B:5TV—ITILA [I1):: e
LS5 : st 7 | SEHER 1:21.3 7-7 40.9| — 6 452 | BlEEFE (dtiEiE)
7 1 HIM X 56.0 8 (3/4) 42) /J\:g:—{gf_z: =
LU RYz—N— B:FAbI—Ly b pN:Lie
RS R 4 | BEEY — - — — — — | fEEEZEER (dbisE)
W ML EY 4R e Cy | ek -
RNy a—TOF08— B:HI58%4> bt}
® I —F—@EBIERL
13—7—
23— —
33—74— |5,7,8,(2,6),3,1
43—+ — (5,7),8,6,(2,3),1
[ RN
B OB 8 130H4 714K 6-8 120H B E 6-8 850M &R 6-7-8 140M
7 B 8 140 7-8 100 | | /5 B 8-6 970M | | E=H 8-6-7 1,290
6 1704 6-7 130H

ABICOVWTRDTEEERROODE. TR LIV,




